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PHYSICAL EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all the questions.

1. Which company was the official time keeper of the Beijing Olympics 2008 ?

(A) Casio (B) Swatch
(C) Omega (D) Seiko

2. Who among the following gave the Olympic ‘Motto’ ?
(A) Henry Didion (B) Hitter
(C) Courbertein (D) Socrates

3. Name the Stadium in which the first modern Olympic Games were held in 1896.
(A) Pan-Athenic (B) Dedascalium
(C)  Amphitheatre (D) Colosseum

4. What does the rings in Olympic Flag indicate ?

(A) Colours (B) Rivers
(C) Countries (D) Continents

S. Which disease is also called ‘Lockjaw’ ?
(A) Tetanus (B) Rabies
(C) Leprosy (D) Measles

6. Maintenance of good health depends on which of the following ?
(A)  Exercise and Rest (B) Diet and Nutrition
(C) Hygiene and Habits (D) All of these

7. Which of the following planes of the body divide it into upper and lower parts ?

(A) Transverse (B) Sagittal
(C) Vertical (D) Frontal
8. On “Set” command the sprinter is in
(A) Stable equilibrium (B) Neutral equilibrium
(C)  Unstable equilibrium (D) None of the above
9. Wet spirometer is used for the measurement of
(A) Blood Pressure (B) Pulse rate
(C)  Vital capacity (D) Oxygen intake
10.  High altitude above 3000 mt. may adversely affect which of the following ?
(A)  Jumping abilities (B) Sprinting ability
(C) Long distance running (D) Throwing ability
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11. In sports Ergogenic aids help to
L Increase strength and endurance
1L Increase concentration
III.  Increase pain
IV.  Early onset of fatigue

Code :

(A) TandII are correct (B) II and III are correct

(C) TandlV are correct (D) III and IV are correct
12. Which of the following is an intrinsic reward of sports ?

(A) Recognition (B) Status

(C) Attention (D) Self esteem
13. The receptors lying in joint and muscles are

(A)  Exteroceptors (B) Interoceptors

(C)  Proprioceptors (D) Distance receptors

14.  The rate of learning reaches a limit beyond which further improvement is impossible.
This stage is technically known as

(A) Concavo-Convex graph (B) Concave graph
(C) Plateau (D) Convex graph
15.  Criteria by which individual test items in knowledge test are judged are
(A)  Discrimination Power (B) Difficulty level
(C) Both (A) and (B) (D) None of the above
16. AAHPER Youth Fitness Test measures
(A)  Motor Fitness (B) Motor Ability
(C)  Physical Fitness (D) All the above
17.  Assertion (A) : A greater than normal stress or load on the body is required for
training adaptations to take place.
Reason (R) : Adaptation is the way to body programmes muscles to remember

particular activities, movements or skills.
Select the correct answer from the following codes :
(A)  (A)is correct but (R) is wrong.
(B) Both (A) and (R) are correct.
(C)  (A)is wrong but (R) is correct.
(D) Both (A) and (R) are wrong.

18.  Assertion (A) : Many athletes are now making a habit of taking ergogenic aids.
Reason (R) : Ergogenic aids improves muscle mass and aerobic capacities.
Select the correct answer from the following codes :
(A) (A)is correct, (R) is wrong.
(B) Both (A) and (R) are correct.
(C)  (A)is correct but (R) is wrong.
(D) (A) and (R) are wrong.
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19. Match the List-I with List-II and select the correct answer using the code given

below :
Identify the philosophies with their propounders.
List-1 List-11
(a) Idealism (i) John Dewey
(b) Realism (i) Rousseau
(c) Naturalism (ii1)) William James
(d) Pragmatism (iv) Aristotle
(v) Plato
Code :

@ (b © (@
(A) @) @  (Gv) ()
®B) G (v 3G @O
< v v @ O
@ v @ Gv) (i)

20.  Match the following terminologies with respective games/sports :

List-I List-IT
(a) Bull’s Eye (i) Tennis
(b) Deuce (i) Boxing
(c) Jump Ball (iii) Judo
(d) Upper Cut (iv) Shooting

(v) Basketball
Code :
@ b © (@
A @) @O  (v) (D)
B av) @ OH W)
© v ® (v 3G)
® (v v @ ()

21. Match the following terminologies with respective games/sports :

List-I List-11
(a) Butterfly (i) Swimming
(b) Double Fault (i1) Table Tennis
(c) Blocking (iii) Basketball
(d) Pivot (iv) Volleyball
(v) Tennis

Code :

@ b © (@
(A) @) @G 1) (V)
B) @ (v)  (Gv) (i)
o ® (i) i) (@)
D v G) @i (v)
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@ (b (© (@
(A) Gi) @ (v ()
B) G (v G @O
< v v @ O
@) » @ Gv) (i)

20. Trefoiiad vssmaet sl Heitid et 9 fietes

-1 gt-11
(a) TRI-TUFEHS (1) @
(b) Tgm (i) sifeaT
(c) & (i) et
(d) TRHL (iv) e
(v) <Rehedre

%2 :

@ (b (© (@
A) @Gv) @  (v) (i)
@) @Gv) G @ (V)
© v ® (v @)
M vy v @O 3>

21. Trefoiiad vrssmaet ol Heitd et 9 fieres

-1 -1
(a) IR () R
(b) TIA FE (i) =t fm
(c) AR (ili) TRt
(d) fyee (iv) dielE
(v) =

%2 :

@ (b (© (@
(A) () @) @Gv) (V)
@) ® () (Gv) (i)
<o O G G) o 3Gv)
D) (v G ) (1)



22, Classification of Ergogenic Aids in sports to enhance performance, is related with

List-I List-I1
(a) Mechanical (i) Carbohydrate Loading
(b) Psychological (i) Caffeine
(c) Pharmacological (iii)) Hypnosis
(d) Nutritional (iv) Sodium Carbonate

(v) Equipments
Code :
@ ®» © @@
@A v v O >
B) (v @) G O
<€ v » G O
O v @ @) @O

23.  Which of the following is the richest source of ascorbic acid ?
(A) Ambla (B) Guava
(C) Lime (D) Tomato

24.  The profitable rest period is utilized in which training ?
(A)  Weight Training (B) Continuous Training
(C) Interval Training (D) Repetition Training

25.  Dr. Kenneth Cooper is the exponent of
(A) Harvard Step Test (B) J.CR. Test
(C) 12 Minute Run or Walk Test (D) None of the above

26.  The instrument used for measuring body composition is
(A)  Skin fold Calliper (B) Goniometer
(C) Manometer (D) Flexometer

27.  Reliability can be established by which of the following ?
(A)  Split Halves Method (B) Parallel Form Method
(C)  Test-Retest Method (D) All the above

28.  JCR Test includes
(A)  Sargent jump, Chinning and Shuttle run
(B)  Sargent jump, Modified chin up and Sit ups
(C)  Sargent jump, Endurance run and Sit ups
(D) None of the above

29.  The measure which represents scatter of scores around median is
(A)  Standard Deviation (B) Mean Deviation
(C)  Quartile Deviation (D) None of the above
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(b) TAERIS (i) FHEH
(c) ofufrer (iii) e
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@ (b (© (@
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23. 199 9 % TEnRiaeh 37 o Tod Siedr A & 2

(A) el (B) 3HES
() g (D) ZmeR
24,  TorE Ufeeqor § ST i 37ay feaehrl 9 9 ST i STl & 2
(A) YR UTTeTor (B) I WTTRTOT
(C)  3PeRTeT UiRTeTor (D) RIgrd wreTeToT
25. ST Y FR R TRIRIOT o WASRT € 2
(A) BRES LY qer (B) V.93, Wieqor
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(A) & Fiee Hefw (B) T
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o o

(A) RS ST, T Ul vee o

(B) 9IS 51, Hifewhze fae 3w ud fe 3
(C) IR 59, 3784 ¥ U4 19e 37

(D) SWIE d 9 g o T&l
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(A) A forerer (B) wred ferrem
(C) e fererei (D) WS H T e oFf T




30. The test of significance used for comparing two means is

(A) FTest (B) “t’ Test
© ¥ (D) ANOVA
31. In only one experimental factor, significance between the means of several groups is
determined by
(A)  Analysis of Covariance (B) One Way ANOVA
(C) Two Way ANOVA (D) None of the above

32. Factors affecting reliability are
(A) Variability (B) Size of the sample
(C)  Representativeness of sample (D) All the above

33. Research cannot be based on
(A) Opinions (B) Observations
(C)  Hypothesis (D) Facts

34.  To determine cause and effect relationship following method is used :
(A)  Experimental Method (B) Philosophical Method
(C) Case Study (D) Historical Method

35.  Harvard Step Test was constructed by
(A) Harvard (B) Thomas Cureton
(C) Lucien Brouha (D) Sargent

36.  The instrument used for measuring range of motion in joint is
(A) Calliper (B) Goniometer
(C) Dynamometer (D) All the above

37.  Intensity is 80-90% in which training method ?
(A)  Extensive Interval Method (B) Repetition Method

(C) Intensive Interval Method (D) None of the above

38. “You can lead a horse to water but you cannot make him drink” is related to
(A) Law of effect (B) Law of use
(C) Law of readiness (D) None of these

39.  Carry over the habits and learning from one situation to another is
(A) Learning curve (B) Negative learning
(C)  Transfer of learning (D) Plateau

40.  Technique of ossification of bones at right hand is used to determine
(A) Age (B) Weight
(C) Height (D) Sex
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41.

42.

43.

44.

45.

The role of AXON is to carry the impulses
(A) away from the nerve. (B) towards the brain.
(C) away from the heart. (D) towards the heart.

Gluteus Maximus muscle is situated in
(A)  Thigh (B) Arms
(C) Lower leg (D) Hip

Sliding Filament theory of muscle contraction was given by
(A) Pythagoras (B) Darwin
(C) Newton (D) Huxley

Sports top form depends on
(A) Training (B) Psychological limits
(C) Diet (D) Equipments

Winning phenomenon in sports depends on learning of fundamentals in the following
sequence :

(A)  Skill, Technique, Tactics, Strategy

(B)  Technique, Skill, Strategy, Tactics

(C)  Skill, Technique, Strategy, Tactics

(D)  Strategy, Technique, Tactics, Skill

Read the passage given below and answer the questions correctly that follow the
passage : (Qn. No. 46 to 50)

PASSAGE

The most successful Olympics for Indians is Beijing Olympics in 2008. For the
first time Abhinav Bindra won Gold in an individual event 10 m. rifle shooting. India
media entitled him as ‘Aaj Ka Arjun’. Vijendra Kumar and Sushil Kumar both won
Bronze medals in Boxing and Wrestling respectively.

In 2004, Athens Olympics Rajyavardhan Singh Rathore won Silver medal in
rifle shooting. In Sydney Olympic Games, held in 2000, the first ever an Indian
woman Karnam Malleshwari got bronze medal in Weight Lifting. In 1996, Atlanta
Olympic Games, Indian ace Lawn Tennis player Leander Paes won Bronze medal.
“The Payyoli Express” P.T. Usha missed a Bronze medal by one hundredth of a
second in the 400 m. Hurdles at the Los Angles Olympic Games in 1984, when she
was placed fourth in a photo-finish. The 1976, Montreal Olympics saw the Indian
middle distance runner Sriram Singh at his best in the 800 m. race when he made a
superlative effort to enter the finals. Gurbachan Singh Randhawa came fifth in the
110 m. Hurdles in 1964 Tokyo Olympics. In 1960, Rome Olympics “Flying Sikh”
Milkha Singh gave a historic performance in the 400 m. race, when he finished a
highly credible fourth. In 1952, Helsinki Olympics, K.D. Jadhav won Bronze medal
in Wrestling. Henry Rebello missed a sure medal in his pet event-triple jump due to
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42.

43.

4.

45.
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AU Gehe 1 AT ST et fagT= fehaeh 51T e i o 2
(A)  HTREFTRE (B) eRfem

(C) =geA (D) &R

Tedl | ¥ER 9ee W i &
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e
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IR STATIR Tell H & 31 7T A7 576 hetshdl H S8 ael Well-SRd1d Uetie A i, e
220 T AT 8IS H ToTd Uges T 110 Y. ST Sie § Ureet T W R |
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injury at the London Olympic Games in 1948. India figured in the medal tally in 1900
Olympic Games at Paris, when a Calcutta based Anglo-Indian athlete Norman
G. Pichard won a Silver medal in the 220 yds. sprint and finished fifth in the 110 yds.
Hurdles.

In the history of Olympic Games, India is the only country of the competitive
world, who had won eight Gold medals in the Olympics of 1928, 1932, 1936, 1948,
1952, 1956, 1964 and 1980, one Silver medal in 1960 Olympics and two Bronze
medals in the 1968 and 1972 Olympics in Hockey.

46.  What are the events and the year in which Norman Pichard won Olympic medals ?
(A) 220 yds. sprint and 110 yds. Hurdles Paris 1900
(B) 200 yds. and 100 yds. Sprint Paris 1904
(C) 100 yds. Sprint and 100 yds. Hurdles, Athens 1896
(D) 220 yds. Sprint in Paris 1900

47.  What was the event of P.T. Usha and in which Olympic she missed the medal for how
many seconds ?
(A) 400 m. Sprint, Moscow 1984, 1 sec.
(B) 400 m. Hurdles, Los Angeles 1984, 0.01 sec.
(C) 400 m, Hurdles, Moscow 1980, 0.001 sec.
(D) 400 m. Hurdles, Los Angeles 1984, 0.1 sec.

48.  Indian Hockey team won following Olympic medals :
(A) 8 Golds, 1 Silver, 1 Bronze
(B) 7 Golds, 2 Silvers, 2 Bronzes
(C) 8 Golds, 1 Silver, 2 Bronzes
(D) 7 Golds, 1 Silver, 1 Bronze

49. Yearwise sequence of Indians who have narrowly missed the Olympic medals :
(A) Henry Rebello, Milkha Singh, Maleshwari
(B) Norman Pitchard, Paes, Rathore
(C)  Henry Rebello, Milkha Singh, P.T. Usha
(D) Paes, Rathore, Jadhav

50. Sequence of Indian athletes securing Gold and Silvers only in individual events in
Olympics :
(A) R. Rathore, Abhinav Bindra, Normal Pichard
(B)  Abhinav Bindra, R. Rathore, Norman Pichard
(C) Narman Pichard, R. Rathore, Abhinav Bindra
(D) R. Rathore, Norman Pichard, Abhinav Bindra




AR Tl o Saerd H GO o YTt 291 § R TehAT <31 ¢ fSae gfehl 7 1928,
1932, 1936, 1948, 1952, 1956, 1964 TAT 1980 H T § W07 Ugeh, 1960 H T 5T UGh TR
1968 & 1972 o 3T AT | &1 i Igeh ST |

46. A fumme 7 for o o Tohe Teiatl § STeifeeh Uges ST ?
(A) 220 7T {82 @1 110 7157 <141 818, URE 1900
(B) 200 =T & 100 = f&re, UR® 1904
(C) 100 7= &1 9 100 71T ST &S, T 1896
(D) 220 7= T2, TR 1900

47. U3 SO R SiicAfeaeh 1, ohe el § foh Yehve § USsh § ok T
(A) 400 9. T8re, AThT 1984, 1 THUS
(B) 400 . aTe qrg, AT USTTerd, 1984, 0.01 Yehvs
(C) 400 . 9TeT Ire, AR 1980, 0.001 JHUS
(D) 400 Hr. 9TeT SrE, TG USTerd, 1984, 0.1 AHvS

48. R Eeh! 5ot A eTaiae Tl ggeh i
(A) 8@, 1 oI, 1 i
(B) 7@, 2 T, 2 i
(C) 8@, 1 oI, 2 i
(D) 7@, 13, 1 i

49. IUER HH F YRAD RIS St ATl T F ST U8 ¥ g6 T
(A) &R e, e e, moctver)
(B) M =g, o, WeR
(C) &R e, e e, 9.3ts
(D) U, TER, STEe

50. SHYMER YRAE Raetel 517 Siieiegen Wetl § ol qer 7 U5 e :
(A) 3R TER, At feomgT, e faens
(B) e farws, 31R. WER, A fueme
(C) AW T=re, 2R, TR, AT fomsT
(D)  R. 3R, T fuene, eate famst
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